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Note : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

. .1.A.
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True or False. (Any-8)
Preference shares are redeemable.
Temporary Working Capital is the excess of working capital over the permanent
working capital.
The objective of operating leverage is to magnify the effect of changes in operating
profit & earning per share.
brr--EBr/Ebir
Aclvantage of preference share is that the company gets tax benefit.
NPV measures the length of time required to recover the initial outlay in the
project.
Future vaiue is the value of money helC presently at some given future time at a
given rate of interest.
Public deposit is a secured loan.
Capital flow refers to the movement of money for the purpose of investment, trade
or business production.
Technical coilaboration includes integrating of foreign technologr with domestic
technoiogy.
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B. Match the 7M

t..2.{al Su er Ltd. is three

'lotal funds to be raised Rs.200 crore
Interest on d.ebenture 12%
Tax rate of ComPanY 35%
Dividend on Preference Share gok

trquity share are of Rs.10 each and will be issued at Rs.10 premium; expected

trBIT is Rs.BO crores. Calculate the EPS.
OR

Ca tal structure of Hindustan Ltd. is as

Company has paid equity dividend of 2Oo/o and expects
Nilarket price of equity share is Rs'80; tax rate
Assume cost of capital of reserves at 7 .625oh
/a.-t^,,1^+a +L- \tr/Afa(- nf tl-re .nrrrnrnv

Group A Group B
1. NPV a. PV of cash inflow outflow
2. Pay back period b. Budget qonstraint
3. Profitabili Index of In

amt

of Inflow = PV of Outflow
on

e
d.4 Ra

5" Default risk
6. ARR f debt
7. IRR
8. Financial risk h. time taken by company to recover

9. Pr-t risk 1

l0 Risk Time ue of

Debt Pref. Shares

A tOOo/o

50% 50%fJ

5Oo/oC

shares ofRs.100 each 10 Crores
2 Crores
3 Crores

Reserves
l4ak Debentures

Q.2.b)

is 5%.
a growth tate of 5o/o; t S M

financial

c. Non (J{,

g. Inflation

the cost

Plans

50%



capacity
per Rs. 30
per unit

A project required
flow as follows :

Year
Cash flow (lakhs)

7M

which cost Rs.S,00,000 1"5 I/;
each year.

period; NPV and 1"5 M

Calculate the 3 leverages & PV ratio of the company.

oRa
(b) Find the future value of Rs.3,00,000 at B%o interest foJyears; compounded

half yeariy.
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Finance?
What are its indicators? What are

(NBFC's)

15 n4

Short term

(c) What is the present value of 5 years annuity of Rs. 10,000 at 7Oo/o interest.
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